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1.

If the rate of formation of N"H3 is9.0x 10‘4 mol/s, then what is the rate of consumption.
of Ny? WS % 10 ol fy

Suggest 2 specific changes that would increase the rate of rusting of a piece of iron.
(nCrease 'tfmqpuz;&un—() Jnertosre Sesf{a ceca of | YOW, I ACACaan 02_ Concentratiom add.
Consider: concentration of reactants o cak ;
temperature of reactants ~3
Il surface area of reactants — not betwenm 2 gence.

Which factor(s) affect the rate of a chemical reaction between 2 gases?
ConSider: 2N02(g) -—_— ZNO@) + 02(3)

What is the rate of formation of O, if, under certam conditions, the rate of
decomposition of NO, is 3.2 x 103 mol/sec? [l =<0 h\a//scc

Consider: I + 0 y —> 2NO,,, Homoginesus remckira
) (g (8)
y + 02( --> 2M gO
Which reaction rate(s) will increase if the surface area is increased?

Consider: @ frequency of successful collisions
volume of reaction vessel
m pressure of the system
v mass of system

t
,

Which condition(s) must increase to increase the rate of the reaction?

pressure per mole

energy consumed per mole
volume of gas per unit time
moles formed per litre of solution

Consider:

B~

Which is(are) an expression of the rate of a chemical reaction?

Give an example of a heterogeneous reaction and list four different factors that affect the

- . rate of this reaction.

H3 oyt 2uc1(°1) — My, <°1>+ Ll,_(j)
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9. Consider the reaction: _
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At certain conditions, 0.15 mol CO}is produced n2.0 mmués What is the rate of
i mc’o'nsumptlon C2H4 of in g/s? sl JuD.;”L R Cano, lwvefgs,“wf ) ,,..39- T8 ;,W—L QG Hy v~ 2.0 nnin.
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10.  Consider the following reaction:  ©.575 weC x Z804 %= ! 5’ ~- Pes s ool 3/§
t vl
CiHy O, ) =--> 11 T 20y, T 12C,
The rate of decompos1t10n of C 2H220“(,} 1s O 75 mol/xmn What mass of C 1s produced in
10.0 seconds? ovs‘ww—e/-*""il_z_wv_%_, ‘/‘a "o T TOmel w204 < (08
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11. The mass of a burnmg candle is monitored to determine the rate of| combustion of paraffin. ¢
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An accepted reaction for the combushon of b parafﬁn is:

,' ., caayen e

2C 8H58(s) +8502(8) "‘“‘> 58 H O(g) + 56C02(s)

a) Calculate the average rate of ¢ consumptlon
of paraffin in g/min for the time interval 12.0 to

The following dats is observed:

24.0 minutes. - 2. ‘*9 Tt oma
v Cuu © 39v.e / ¢ roong/m”— s
b) Calculatef\ to rate of CO, production in N _
- mol/min for the fime interval 12.0 to 24. 0 S — =
minutes. 0992 4 v el .5 54y 0] ¥ el R maar v 54
x 10 el x St €O T 39908 °F  Lsxio3 M/ ’ 300 238
12. An Aﬁ(a-seltzer tablet is added to water to
produce carbon dioxide gas. The gaswas
collected using water displacement, _f‘,_l e
The following duts is recurded:
a) Calculate the average rate of reaction for the e v
formation of CO, gas for the times: Py 5
3ol . 0.30 QL N 00 4 - 30
i) 0-10 seconds TE?— : . /e 10 9
’ 300 1S
ii) 10-20 seconds zo-0 <3.0" - l70 W~°—/s 20 20
lo.o¢ 500 430
800 430 .
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b) Suggest a reason why the rate of resction TL“ +“"'Q’d ,Meg (,ﬂ,.dmir-{:ku) avea_ o~~A Fhg
from 0-10 seconds is slower than the rate from 10 0-20. Bsseconds A Lo vty whareay
v~ 160-20 § the $aL 0t brv-kl. A.'Da,/*)‘ mcr‘eau,wj SA ard tay ne
c) The mf rga?t‘%ﬁ’is nok constanhaunng the entire interval from 10.0 s to 40.0 s. Describe
the change in rate and explain a reason for the change. .
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- (0.0 = 20.0s 72wt /g The Greaclant] Aecrencad ar 4o
10.2 - %0.57 L35 wL /s

4eoblik way CMFMML N&&uﬁiw‘q e
YRS TVIV QRONS JUYISN ’P{\W i
thans Aoremrad vrde

30. 2 “%0.0y O":J--A\L/f



